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Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any ten questions: 2x10=20
@-ie v 2o Ted vie ¢
a)  Write two differences between inflation and
deflation.
YRS @ JUPRGHIHER S 7o ANy @2ls |

b) Mention any two factors determining National

Income.

GO o ef@E @I 716 K Srare 741 |
c) Define cost of living index.

GGl 75F 9 KR Ve |
d) Mention any two problems of estimating NI.

TSR S SATCoR (@GR 716 Srfias Srard 41 |
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h)

i)

k)
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What does equilibrium of IS-LM model show
us?

IS-LM S(S(a1d S 998 (A0S < Siecs #ifde

What is the relation between multiplier and
marginal propensity to consume in SKM?
SKM (s wel<s G2k 2l colol @i sy 71
fe

Define pseudo-unemployment and seasonal

unemployment.
BHCIPITY G IS (FHIAG A0S 5 (=2

Write two disadvantages of using money as

medium of exchange.

fRfersIcRr st 231103 Bisel pazicas wib spyfRia (+74 |

State the relationship between NNP at factor
cost and NNP at market price.

TAMICTA WG @ A Wit NNP-2 5y 79456
14|

Write the NI accounting identity if MPC is 0.25
in a closed economy without Government using
standard notation.

I (P —IG GG I wdeIfore MPC-= 31+ 0.25
201 SIS SR SCewis (@14 |

What is autonomous investment?

KRRCSARRRIR R (SR G
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State Gresham’s Law.

CamITesTst vgafG 6 2

What is high-powered money?

T FFO! H~5{e] BIpl ICH 0T 2

Define growth in economy.

(o &fa I A0 2

Mention the condition of stability of

equilibrium in SKM.
S (A NS B SRR *16f @72 |

Mention two determinants of money supply.

wdq @ise e it [Rew S 4|

2. Answer any four questions. 5%x4=20
@ (T 51D drs Te wle ¢

a)

b)
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Write two assumptions of SKM.
Diagrammatically explain how can we derive the
Average Propensity to Consume line from the
Consumption schedule under SKM.  1+4=5
SKM-43 7f6 *[6 Srzrd 39 | SKM @ (Sis] (4l (AF
fRFSIC 2T coiel @erel (3l e AR ol fowre i
Rl

Explain the Balanced Budget Multiplier with
diagram under SKM.

SKM-4 & S5 i Haarg i< 54 |

What is value added in NI accounting? How does

it help us in getting correct estimate of NI?
2+3=5
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d)

g)

h)

3. Answer any two questions:

ORI SR ARSI (G e FALEH 0o 1
(A1l 2 G2 NS FIFelca e o #{fie w<es
foeita Ry e e

Write a short note on Lorenz curve with diagram.
G (R T T2 BIAl (@1¥ |

Briefly discuss the causes of unemployment

following classical theory.

I O SR ([FPACTI PRI e SAEAIB F1 |

Explain different components of GNP in a

country.

gl (e GNP ffen fReiarafer it <1
Discus monetary systems briefly.

SIYE] HACH FLCFCA S 41|

Discuss the impacts of income inequality in the

economy.
GLAOTS T (TG T AACE SN T4 |
10x2=20

@I v sl TeR wis ¢

a)
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What is IS curve? Diagrammatically explain the
derivation of IS curve and determine its slope.
2+8=10

IS-@2l [ 2 foawz IS-@2l Fefa simfeof e =
3R 3 FAR I el 54|
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Explain circular flow of National Income with
the help of a diagram. Explain the concept of
injection and withdrawal in this regard.
5+5=10
ToGoTz SO I JEEIS IR 2 | GTFGa ST
@ TSGR Qe wis i |
Define inflation. Discuss its types and reasons.
2+8=10
JEPIfeR kel wie | JErifon [foq @ a3k @3
ffen FrReefr TS SIcEm 4

Why macroeconomic data is important? Give

two examples of such data. Explain the concepts
of stock and flow with example. Define real
GNP. 2+2+4+2=10
TBore S ey 52 TBsre S qib Swigae
G | 75% @3 &Pl 97 AiFel 1o SwizepTz i 9 |
A SR S H<e| 7 |



